91 GeV ee y*/Z (Hadronic)
><Q. [ I I I | I I I | I I | I I I |_
S 104 B )
IS 10" g TI spectrum (1e) =
° -
H B —

10° —

10% - —=

10 - —

= .

— m ALEPH =

[ --3-- Herwig 7.0.0 default -

., [ —a— Pythia 8.301 default .

10 = ¢ Sherpa 2.2.1 default S E

~ —¥- Vincia 1.1.02_8.185 default e =

107 - _

-+ -+ F

2 & =

I L ]

D- B —

LIJ B —

ZI 16— - e & -F _________ 4 —
o] 1 M‘! """" ;';';";"F':'f" e ——"'*"""'-“-‘..‘..._i.l-. ——————— =

i : -

IS B _

m B —

— ‘.~~’ —

0.5 _|

1 1 1 | 1 1 1 | 1 1 | 1 1 1 |

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


